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W V/hich of the words can be used as both masculine and feminine? (¥) actor (<) gander () spinster

Chioose the correct indirect speech: She said to me, “ Are you happy in your new job?" (¥) She asked me if I had been
he asked me if I was happy in my new job/ (%) She asked me if I have been happy in my new

Lappy in my new job.
job. (7) She asked me whether I am happy in my new job.
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“> A" What type of noun the word ‘infancy’ is — (¥) common ) abstract |(+) material (%) collective
@ The idioms ‘to kick the bucket’ means (¥) to quarrel () to begin (%) to neglect
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s Indentify the correct verb in the blank: ‘I wish I — the answer’. (%) should know@(ﬂ) have known (%) will know
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L r/@./ﬁ;-enﬁfy the correct passive form: ‘Do you see the flower?(¥) Is the flower was seen by you? (%) Is the flower being seen

by you? (st Has the flower seen by you? =) Is the flower seen by you?
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2 u-¢. What is the correct active form * It has to be done by me”. (¥) I must do 1&(@1 have to do it!ﬂ) I should to do it
() I must have done it.
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